320 1102 &AM ST

Av\

P "% FF iR AL

fm 3R R A
m" A , : :
EEREE: — /N B

FHE 40 ~ > £ 200 &

Lodet- TR 10 B AF- B Bl 5 - BlcF 5 245 @4 nTiok
8 R HF AT B L 9

44 46
74 47
29 13
46 /o
42 27
[%F52%]

KIF AT en A B85 X0 PIIF 44 ch 4 5 (2x46-x) /% 5 3 18 14 5 (2x13-x)
o BeF 29 e x5 (2xT4-(2x46-x)) e 3 BieF 42 e 4 5 (2x27-(2x13-x)) e 5 A1
" [2xT4-(2x46-x)+2x27-(2x13-x) ] /2=46

42+x=46

Ed#5 4K




ok

w9 1108 2R ST HkE
% AT
:ﬁ%)b *ﬁ%

ti %: ) 9 9.

FHRYEHER ERZPEROBRIZBPR DT B E

HBHNREF U BIR P B RS R B BB 528 B o KB TR
z &

54 fRE ) Ktrzk(a @)~ g3R(b B)% £3R(c B)
a(a+b)=c+528
a,b,c? ViiPi A Fliatb i Bk
a=2 ¥ 0 Fli c+528 5 Ak
(i)c=2> Fl% c+528=530=2x5x53 > gk a=5> s ¥ a+b=106
% (a, b, c) = (5, 101, 2)
(i)b=2,a+2a—528=c, (a—22)(a+24)=c
Fla c A #k swa=23>c=47;
% (a, b, ¢) = (23, 2, 47)



327 [0 ERFAR ST P
RS =2

iR SR B A:
E%: ) 9 )
2,.p2_,2 2, ,.2_42
2 58 7 % P , =a+b—c =b+c—a
3% a,b,c38 3 0 A= B="—
c2+a2—b2 . s s Vo
C=T’.§' A+B+C=1° K A> B> Cehig 5 ®?

[%572%]
A-1D+B-1)+C+1)=0"
(a—b)z—cz_I_(b—c)z—az_l_(c+a)2—b2

2ab 2bc 2ca =0

F 3k 2 2abc #
(a=b+c)c(a—=b—-c)+(b—c+a)a(b—c—a)
+(c+a+b)b(c+a—b)=0

BEr) s
(a=b+c)c(a—b—-c)—a(b—c+a)+b(c+a+b)]=0
(a—b+c)(—c?*+2ac—a*+b%)=0
(a=b+c)b—a+c)(b+a—-c)=0
()a=b+c

1
A=—0b*+2bc+c?+b?>—-c?) =1
2ab

1
2 2 2 2y —
B—Zbc(b +c“—b 2bc —c*) = -1

1
C=—(b?*+2bc+c*+c?*-b?)=1
2ca
@ b=c+aA=1B=1C=—-1
(3) c=a+bA=-1,B=1C=1



ok

29 108 &R FF kP
He % AL
T R #:

ti %: ) 9 3
4, = BAp R ehD Blcede s 1000 TR 2 B lics fod ] 3t R %20 50
S R L T E

4

(5% i*%]
Tl AES Bl i <ay<az<ayu<as<ag<a;-e
Fa, =15 RBlas+ag+a;, >216+17+18=51> % & o
BFka, <14 -
Flas + ag +a;, <50 ¥ #ra; +a, +az; +a, =100 —-50 =50 -
Pl <a,<az<ay ¥ivata,+az;+a, <14+13+12+11=50-
wa,=11>a,=12>a3;=13>a, =14 -
Flag > 15% a5+ ag+a;, =100 — (a; +a, +a; +a,) =50
Fariiias=15>a4=16>a,=198as =157 a,=17>a, =187 & ¥ iy °
T a=11>a,=12>a3=13a,=14 a5 =15>a4 =16 > a; = 19
a,=11va,=12a3;=13a,=14>as=15a,=17 > a;, = 18

\\\?{Zr



g7 110 F#RR Y FHEFRE
wm o B A:

ﬂ %- ) 9 9
5. 4rt T B#rR 0 RIS A, ABCD f 3%} - %P> % RAP =5,

BP =122, DP =13V2:» &1 = a5 ABCD 1 ## °

A D
P
[(532%] B C
4 %48 E ¢ WAAED = AAPB » P|£EAP =90° » * ®
AEP % $% % & = 435> #7110 EP=5V2> % d %
BP = ED = 12V2,DP = 13v2 » #12£DEP = 90°
L F @ FAAFE: 393 &= 47 EF—ngx/f :
#t11 FD=FEF +ED =2V2+12V2 =242+ % > 6 ff 5 FD2 =22«
Y ——y .-, 841 25 FoL
AD? = FD? + AF? = ——+ — = 433 2
A g : D
-P




